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A= .25 - F3H .S () - MBAIY - BES 0] AFCH J| & @ Hns
A2 S &t 6,230,906 6,187,682 43,224
=2 164,589 164,589 0
J| 1,719,581 1,751,024 A31,443
= 63,000 63,000 0
< 459,825 460,122 N297
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== 459,825 460,122 N297
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HLYMEAN SEAMUIA AIY 320,000 320,000 0
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101 el Hl 9,480 20,000 A~ 10,520
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Al 3,792 8,000 24,208
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Il 4,740 10,000 N5,260
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Il 69, 155 59,155 10,000
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01 Al 2EH =063 138,310 118,310 20,000
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Al 34,224 26,224 8,000
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SA=by 49,400 » 1Y « 8¢ 396 0 396
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= 12,760 14,960 A2,200
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MO 2eE e 1,321,102 1,327,933 26,831
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St A 17,824 0 17,824
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Ot U =SIEE
17,824,000 2 * 14! 17,824 0 17,824
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SoAS SHOHA 301,587 286,587 15,000
307 21240 135,000 120,000 15,000
02 812424t 15,000 0 15,000
OYeFYBR 2l ALHDEAL
5,000,008 * 14} 15,000 0 15,000
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A= .25 - F3H .S () - MBAIY - BES 0] AFCH J| & @ Hns
BHESA 442 887 461,787 18,900
S2XSE F0 AASX(EAH/EHOZ) 426,307 445,207 A 18,900
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201 LEHRHH| 20,160 17,360 2,800
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